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Answer the following questions in brief. (Any Six) (18)
(1) What is medernity ?
(2) State the basic changes of industrialization.
(3) How press develop nationalism ?
(4) What is social legislation ?
(5) State the characteristics of modernity according to
Antony Giddins.
(6) How does legislation change social status of Women ?
(7) 'Indian Constitution Supports Dignity of Individual' Explain.
(8) Give the meaning of reformist activity.
(9) Name the founders of 'Arya Samaj'and "Theosophical
Society.'
(10) State the reformative activity of Justice Rande in brief.

Give the meaning of post modernity. Describe characteristics (17)
of post-modernity.

OR
Discuss the impact of television on Indian Society.

Define Industrialization. State the social changes occurred in  (17)
Indian Society due to Industrialization.
OR
Discuss the contribution of Brahmo Samaj in social change in
India.

Write short note. (Any Two) (18)
(1) India's mistaken modernity

(2) Industrialization in India

(3) Movies and Indian Society

(4) Impact of constitution on Indian Society



Y.1

Y.R

Y.R

Y.3

Uy

Ul deyal

§d 2l : 9o

olldail uHlall g5¥i ¥dIel M. (SlguRl ©) (1<)
(1) gyfeisdl Aed g ?

(R) G0l Yaeid uRada eldl.

(3) ‘DA’ Aedied asdR 3d1 dd 83 8 ?

(¥) APl¥s siodllsel Aed g ?

(1) oedll Rifscall ud 2iIgfeisdicll @iRN ¥RNdl.

(s) slgdlszer 2Mail 2eIai 3] Ad uRddol @id & 2

(9) ‘eirdld cigrel cafsdd 2Ry A0 & 4d).

(¢) Yyurendi€l uyficl 24 244,

(€) ‘i 1% 2al ‘RN Esd AA1RE ¢l /ISl o1y 21141,
(10) cu3y(d 2AaiSell JERIUIE] UYRY gsHi wRNdl.

lof-AIg)fcisdliall 21 2] 2ej-2AIg)[GIS 0l il geldl. ()
A=Y
g2eRiolall eiRdI™ A1y BUR UAd 2HARdll U s,

Guldflsw@ell caval urdl Galdllseloll sRE eiRdlY M 1A ()
yRdde weudl.

AHYq|
eIRdHi AMI¥s uRadei i@l AHI¥ell UElloll UUT S3U.

¢sollg avil. (slguel o) (1<)
(1) eiradl einis 2igyfeisdl

() eiRradi 2ABise

(3) AR didl eiRdlY w31

(¥) ciarerd eiRdlY A% U AR

it



